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General Instructions :
1. The question paper consists of 2 sections - Section A (having 27 questions) and
Section B (having 12 questions). You are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choices have been provided in all
guestions of 5 marks category and 3 questions of 3 marks category.
All questions of Section A and all questions of Section B are to be attempted separately.
Questions 1 to 4 in Section A and Questions 28 and 29 in Section B are multiple
choice type questions and carry one mark each.
Question 5 to 10 in Section A and 30 to 32 in Section B are very short answer type
guestions and carry one mark each.
7. Questions 11 to 16 in Section A and Questions 33 and 35 in Section B are short
answer type questions and carry 2 marks each.
8. Questions 17 to 23 in Section A and Questions 36 to 37 in Section B are also short
answer type questions and carry 3 marks each.
9. Questions 24 to 27 in Section A and Questions 38 and 39 in Section B are long
answer type questions and carry 5 marks each.
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Section - 'A' (@g-‘31")

1. A boy kicks a football which then rolls on a level ground. After covering
some distance the football comes to rest. The force, that makes the ball

stop, is the
(@) frictional force (b) magnetic force
(c) gravitational force (d) electrical force

Teh AHT Tk F2OA il | T Hah1 31 8| 98 F2oe, FHIA SHH T Jeahd
T R/ W W S Tk ot @1 Frafafad & 9 &A@ 9 STt a6
RETI

(@) HIT FA (b) IR dA

() TEEHT T (d) et =

2. In a voltaic cell, the electrodes are dipped in a solution of

(@) citric acid (b) vinegar

(c) dilute sulphuric acid (d) ammonium hydroxide.
T didfes 9o w B fmy foema o gt B €2

(2) T st (b) Teep

() T HCHIH (d) emHIfFEE TRgEES

3. Out of the following metals choose the one that does not occur in its
native state in nature.

(@) Gold (b)  Silver

(c) Platinum (d) Sodium

T o1g S H A o ga ®9 H &l 9R S, 9% © -
() @ (b) I

(c) wife™ d) wifeTm

4. Hydropower, from water, is an example of a/an
(@) inexhaustible natural resource
(b) exhaustible natural resource
(c) fossil fuel
(d) synthetic source of energy

S ¥ IO B8R el o, Frefafed § 9 frger e 272
(@) 27T Uhfdeh GETed (b) TUM B oIl Wiehfae TdIEH
() SiareHr e d) wg fAfta S daeE
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5. Define friction. 1
oo’ i Rt

6. When the measure of the intensity of an earth quake, on the Ritcher scale,
goes up in magnitude, by two, what does it imply? 1
o fepddl germ it dfierar 1 A9 e et W S AW o 61 2, 4 36T 31
ERIICIN Y

7. State the meaning of the term 'foreshocks of an earthquake'. 1
‘TR & T8 wesh | YAl a1 31 Fad|
8. State the reason for the reduction of a metal ore in metallurgy. 1

¥1q & TTshE0 & falu oTa%® 1 Hifcaeh ol S a1 BRI Tqd|

9. Write the name of any two undesirable gases that are obtained on burning
wood. 1

AhEl & So ¥ I B el 39 & NE % TH «ard S erderon & fog
BT B
10. Where is natural gas found? 1

qehfceh 9 hEl U1 Sl ¢ 2

11. An object has two equal and opposite forces acting on it along the same
line. State the changes that may take place in :
(@) its state of rest or motion?

(b) its size or shape 1+1=2
Tk o] W 3 TR Afeh foielt ot Tk &€ @ W ol ® 21 9% Hl

(a) Teertar steran wifq st feerfa

(b) 3hR AUl kA

T g 9% ol IRadA/aiadql & 9R § fad|

12. State two factors on which force of friction depends. 1+1=2

Y] ST Skl YA hid ol & ek wdmd|

13. Give reasons:
(@) We should not handle electrical appliances with wet hands.
(b) Copper sulphate solution is a strong electrolyte. 1+1=2

HIOT 9a
(a) &Y forscll & Iush ol &l el g ¥ &1 &1 =feu)

(b) IR Hehe gd Togd h1 Teh 1= =leieh—{oeta 2l
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14.

15.

16.

17.

Differentiate between metals and non-metals on the basis of the following

physical properties :
(@) Thermal conductivity

(b) Ductility

urgetl Wd erergetl & dre frefafaa Gifde o @ STuR W SRR TR Y

(a) T <Metehdl

(b) T <A1

Suggest any two methods to control air pollution caused by vehicles.

arel g1 HelT S aTel o1 95U i FreEfa e & 31 Sue S

State any two causes of increase in concentration of greenhouse gases in

the atmosphere.

FATSA H HE R WA agH Sl 6w W g % & HR0r |

Some situations are given in Column of the table given below. For each
situation write, at the appropriate place in the table, the nature and the

kind of the relevant force.

Description of situation

Nature of force (contact/
non contact)

Kind of force

(1) falling of raindrops
(if) A block, being
dragged on the table
(iii) Two light plastic
pipes rubbed seperately
against dry cloth and
kept near each other
(without touching)

fRu 7Y 2ot ° vt wiem H wp feafad o ool fman wen ?1 yee feufa o

T 9 1 TR’ e ‘TR’ Z9d § Suge F W fad|

fagfaai =1 ool

ERiEiRFaT

(A /3T )

ot <hl YohlX

(i) =feer T <& 1 e
(ii) U scen o9 29d]
W e S @ R

(iii) = gooh! TR
ATl ST HE©
FIE W TIE X TH-19
(for ga) T
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18. (a) Differentiate between static friction and sliding friction.
(b) Wheels are used extensively in our daily life for transporation. State
the advantage of the same. 2+1=3

(a) wfas =eor 3R |df oo § s o= 872
(b) ufeu aramEmd & WEAl § STenfus T B8 ¢ 399 BN ol ol Sdr |

OR ( 3T9dT)

(@) 'lIt easier to 'keep moving' an object that is already in motion than to
put it in motion from its state of rest." Why?
(b) Why is friction termed as 'a necessary evil'?

(a) Torelt oxg =1 ‘SH =1 § Tfaeiial’ @A, 39! foum feafa & faeia s
1 U 3tfeeh WXl Bial €1 i?
(b) =N 1 ‘e AfETd eifeRre’ i wEd 8?2
19. (a) With the help of an activity explain the relation between fluid friction

and the surface area of a body moving through it.
(b) Aeroplanes and car bodies are made more pointed along their fronts.

Why?
(c) How does air resistance change with the speed of an object which is 2+14+
moving through it? =3

(a) TH fordl SR RS SHUT Qe ‘TR o WM alell 9% & &%’ & TReIH
T hi T hiferd|

(b) BeE SIS 3R SR 1 3Thfd I 3 W Tehieh T4 =@ Sar 82

(c) B ¥ Sl g8 fohelt g W =an gl o oren ‘e gfowie’, 3§ 9% i
T afEd & |y HY aEed 82

20. State the three prominent effects, of the chemical reactions, taking place,
at electrodes and within the electrolyte, during electrolysis. 1+1+1=3

fonelt =meten foerem o faga o yarfed fhd S W 8 arcll Wafe stfafwanst
% 9 faeie gorel o IR | Sdred|
21. (a) Define the terms :

() 'epicentre’ and (ii) focus
of an earthquake.

(b) State the meaning of the term 'Quake Safe'. 2+1=3
(a) H™ &

(i) stfeng @ (ii) ®iwd

w1 qReIa Hifse

(b) ‘germ fRrae’ ereal <1 37 |
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22. (a)

(b)
(a)

(b)

With the help of an acitivity explain that metals react with oxygen to
form basic oxides.
Compare the reactivity of sodium and iron towards water. 2+1=3

e TR g wmed R U iR siediom 1 eifufswmen 9 e stfee
I Bl 7
difedd 3R ol 1 S & | gH areft fufwa § R e #)

For visually challenged Students in lieu of Q. 22

gfedm faenfdai & fag wov 22 & @ W Jwfeusn oA

Complete the following equations :

(@)
(b)
()

Cu(s) +HCl (aq) OO OO -
Zn(s) + H,SO, (aq) OO OO -
Mg(s) + H,0 () 09D - 1+1+1=3

Frefafaa sifafswaet =t @ =X

(b)
(c)
23. (a)
(b)
(c)
(a)
(b)
(c)

(@
(b)
(a)
(b)
24. (a)
(b)
(c)
(a)
(b)
(c)

Cu(s) +HCl (agq) OO OO -

Zn(s) + H,SO, (aq) OO OO -

Mg(s) + H,0 () 0090 -

How does high concentration of nitrogen dioxide, in air, affect plants?

What is smog?
How is carboxy haemoglobin formed? 1+1+1=3

g W RIS SRS i 3ifush AeT @ diel W R fe@d 22
‘T’ B ®?

n oo o L\
‘R feArefed’ $9 S €7

OR ( 3T9aT)
Name any two acids that make rainwater acidic. Lo+1H+
Why is acid rain harmful to both plants and animals? 1+1=3

I o STeT kil TRAT oM O & 3TFAl & AW g
et aul el SR SHeRl gl & fow SRl BifeR R 272

Define : "Thrust'.
How is pressure related to thrust?

1+1+
Mention any three properties of liquid pressure. 3=5

‘TEad ga’ (9) 1 aRdia &l
‘T’ 1 oAEed S (9R) W I FERY 87
‘gt T Y HE A TR S
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OR ( 3T9dT)

(a) State any two applications of atmospheric pressure.
(b) Most climbers, who attempt to scale high range mountains need to
carry oxygen cylinders with them. State the reason for the same.
(c) How is the air pressure, at a warm place, likely to be different from
that at a colder peace?
(d) The walls of a plastic bottle tend to get deformed or crushed inwards 2+1+1

when the bottle is closed after pouring some hot water in it. Why? +1=5
(a) Tl < feafqal o1 ool s wRl aFHveeda <@ s&d 2
(b) ‘S WRIfeal W = ol Ydarig! i tiadieH & faciex i ST Il
21" SHeRT HROT Fdq|
(c) Tt FOR S R IFHTSAHE @ ITY 3t S & @ T Sy fo9=1 gH
T AT 22
(d) 3TR Ueh TANES hl diqel sl TRH TH] SR a< Y S S o 98 i
1 3R Toerg Tl B

25. (a) You are provided with a strong bar magnet and a coil of a well insulated
copper wire. How can you light a bulb using these two devices?
(b) State the name of the phenomenon involved and the name of the
scientist who discovered this phenomenon.

(c) State any two practical applications of this phenomenon. 241641k
(d) Suggest any one method by which the effect of this phenomenon can +14+14
be increased? +1=5
(a) T Tk 3R HIR i GRATART 1 HS W T Teh sod i i S H
Tkt &7
(b) 39 9fwa w1 1 9m & T 22 3@ ufwar 1 @ few e |
I oi?

(c) 39 9fhan & T SYFM Al
(d) 39 WA & Y9G &l 9@ & T HiE T fafy Fem|
OR ( 319aT)

(@) Name any two metals that are extracted from their ores by the process
of electrolysis.

(b) How is electrorefining of copper done? Yo+1ls
(c) Enlist any two practical applications for which objects/articles are +2+1
electroplated. +1=5

(a) 3% 9 foga oW yanfed & o1g FeRrell ST arel 31 e1gstl & W darsd|
(b) TR 1 T g Yfgehior &4 fohar s 22
(c) a&get & fagaeis & &1 < STAR =
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26. (a) What do you understand by the reactivity of an element?
(b) Arrange the following metals in the order of their increasing reactivity:

Al, Ca, Ag, Fe
(c) Look at the given diagram carefully and then answer the following
question.
Would you observe any chemical _ _ Iron nail
change in this case? L (T T FD)
Give reasons in support of -, Copper sulphate 1+2+
your answer. _ Solution (Blue) 2=5

(a) Tl &1 AffRaicrar 1 a9 9| (IR e 71 (A7)

(b) FrAfafEd uged &1 &0 @ sifuew fufwarhica & ¥R R FHdg &Y
Al, Ca, Ag, Fe
(c) 9 fEu 7 st &1 o4 § <@ 3% =] foh oo 39 feufq § g qemfies

ot a S o
TREdT BRM? 3794 heH Eﬁl qoelen ] T:l% [T h 0T T[T

For visually challenged Students in lieu of Q. 26(c)

gieg faenfdai & faT uom 26(c) & WM W Jerfedss woa

(c) (i) What will happen if an iron nail is dipped in a solution of copper
sulphate?
(if)  Give reason in support of your answer.

(c) (i) SOFR T @6 i hid, HIW Fehe 4 H a1 <A SIC q@r F1 T2
(ii) 3T IW & TRHW & o SR fafay)

OR ( 3T9dT)

(@) Name:
(1) a metal used in electromagnets.
(i) a non-metal used as an antiseptic.
(it1) an alloy used for making aircraft bodies.
(b) Differentiate between steel and stainless steel in terms of their

composition. 11t
(c) Pure gold is not be used for making jewellery. Why? Vot 1+1+
(d) Why do we call platinum a noble metal? +1=5
(a) 9M 9@ :

(i) U urg o1 fores forda g o o w4 fman S 21
(i) TH UG 1 W Gl %I Te T Bl 2l
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(iii) Tw fag urg =1 S BATS SI8TS ] @11 oM & g 3l 2l
(b) el 3R Re™ il ¥ S g0 & MUR W F<R «ard|
(c) @ |M ¥ SR &l JA1T S| il ?
(d) @Y ® ‘Ao Tea’ Ff Fed &7
27. (a) Draw a neat labelled diagram showing destructive distillation of coal.
(b) Name the three main products formed by it and write one use of each. 2+3=5

(a) o7 g0 +id & 99 39eH i foren fe@m™) oeer ot i
(b) 39 a1 g0 3 I 3R] &1 9 e a0 Yds &1 Teh ST <dmd|

For visually challenged Students in lieu of Q. 27

gfedm faenfdai & fag wov 27 & W W Jwfeusn oA

(@) Where is the largest coal mine located in West Bengal?

(b) State the three conditions that result in the formation of different
varieties of coal.

(c) How is coke obtained from coal? Name the fuel gas obtained from 1,414+1
coke. +1+2=5

(a) dfy=™ et o fed g o€t Hige &1 @M Hel 872
(b) g & fafir goR &9 3= B 27 (fh=t dF fearfaal & aR o o)
(c) I U Fik %y 991 27 hish 9 o arell 2o 19 1 919 s

OR ( 3T¥ar)
(@) Enlist any two characteristics of crude oil.
(b) How is petroleum pumped out of its prospective site?
(c) Why is refining of petroleum done?
(d) Give one use each of :
(i)  Highly refined petrol 1+2+1+
(i)  Asphalt 1o+15=5

(a) =d I ! i g fagand sard

(b) USiferad &1 SHH Wihlder Sidl 9 Sel &y Tehren S 272

(c) Ufeam =1 gigwor =i fman S €2
(d) U 1 TH ST Fad :

(i) 3ifHs @=s T U

(i) TERleE
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28.

29.

30.

31.

32.

33.

34.

Section - 'B' (@Wg-‘a')

Which of the following cells do not have a cell wall around them?

(@) Plant cells (b) fungi cells

(c) bacteria (d) cheek cells
frefafaa o 9 A @ IR & -9 iR e T2 g
(@) TIRY hRIFeTeRT (b) HaAH

(c) fremoy CIIERISEEAINEY
Spirogyra belongs to which of the following groups of micro-organisms :
(@) Algae (b) Fungi

(c) Protozoa (d) Bacteria

TIEUTE eusidl o forg ot # e 22

(a) T (b) hdeh

(c) et (d) it

Where is the nucleus in a hen's egg located?

it o 3 & 3T sk el Al Sl 82

How are plants selected for reforestation in a particular area?

et & o qaRTor & fera el w1 e fRE STER W Bl €2

What helps the migratory birds to navigate in long-distance flights during
migration?

G &5l Tk oAl AT I dred geft STo un Y qeed €2

(@) Name any two projects started by the Government of India to promote
wildlife awareness among people.
(b) What type of information is published in 'Red Data Book'?

(a) @i | o SfieF & Uid el B 8 TR i Tl g afEisret
% AH Fd|
(b) ‘¥ o1 9%’ & fFE WE I Go TR Bt 22

(@) How are alcoholic beverages obtained?
(b) State the main function of bacteria present in our large intestine.

(a) UehiEd Jod YAl o1 ScAG il fepar s 272
(b) BAN A&l H 9C S aTel SHamvet & J&1 & adr|
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(@) Name any two infectious diseases caused by viruses.
(b) What is the mode of transmission of the disease called swine flu?
(c)

Which disease of potato lead to Irish famine in 1740-41? Yox4=2
(a) 9T N Ho arel & famfEt & A =an)
(b) T Tef 9 Therdl 87
(c) o] ! ford foaail o &ROT 1740-41 H ‘3R ®AEA’ g37?
36. (a) Name and draw a neat labelled diagram of a micro-organism which

uses flagellum for its locomotion. 1s+1Y5
(b) Why is mitochondria called the power house of a cell? +1=3

(a) SH geasia &1 9 oard iR fom amrd fores weisiem e 21
(b) TSRS i HIfSTehT T ‘UIeR B3E’ i hed ©?

For visually challenged Students in lieu of Q. 36

gfeda faenfoial & fag wea 36 & WM W dkfeas w9

(a) State any two characteristics of chloroplasts.
(b) Why is mitochondria called the power house of a cell? 1+1+1=3

(a) ‘FARMR=’ &t < faeman s
(b) HEEIREE Wi ‘HleX BeH’ i Fed 87

OR ( 3T9dT)

(@) What is the role of chromosomes in cells?
(b) How is nucleoplasm different from cytoplasm?
(c) What happens to the chromatin when the cell is ready to divide? 1+1+1=3

(a) IR § HEGEHE S 1 JHwT et 22
(b) frraredH AR AEIH H & 3R 2?2
(c) hifSrenT Ta9SH & THA AR | o1 IRedq Tl 272

37. (&) Which of the following organelles are found only in plant cells?

cell membrane, cell wall, nucleus, large vacuoles, plastids, mitochondria

(b) State the role of these organelles in plant cells. 1x6=3

(a) Trefafad § 9 %M 9 Hifer 4% 9]y HikeR § 9T S 272

~

RITThT Tefoedl, hifSreRT Toil, shesich, SoRIcl, WES, ARG Al

(b) UIEY Hifrertetl § g7 IR & %1 Fard|

VIII-SCIENCE & TECHNOLOGY (11)



38. (a) How is food poisoning caused? 145541 ot
(b) Mention any four symptoms of food poisoning. AEYA
(c) State any two ways to prevent it. +1+1=5

(a) ‘@ faumeH’ ®¥ 8l 872

(b) TH HIE TR &I &
(c) 359 9= & © 3U¥ fad|

OR ( 3T9dT)

(@) Why do we add phosphoric acid to carbonated beverages?
How is canning done?
(c) Suggest one method to preserve the following food items :
(i) cereals (i)  milk 1+1+1
(d) Why do we add chemical preservatives in pickles? +1+1=5

(a) B Hiaree g | BN 37 i Seid © 2

(b) Tesdrsig wueRol &y fman S 872

(c) fr=fafea @ g & afRem 1 ®E Tk dldT adqw
(i) o (i) g

(d) B9 =R § TEEiTes 9iiees b Sed &7

G

39. (a) Deforestation may lead to flooding. How?

(

(b) Why do we say that deforestation can lead to desertification?

(c) Why are biosphere reserves created? 2+1+
(d) Where is the breeding ground, of giant olive ridley turtle, located? 1+1=5

(a) aFgeM @ 91g 3 1 A 9¢ Sl 21 ha?
(b) &1 78 Fl Fed & fF dHRgeH % HRO HELACAHIO & Tohdl B2
(c) ‘Siemved SR’ Fl ST S 22

(d) sifera fieet gy wel 310 < &2

OR ( 3T9dT)

(@) How are national parks different from wild life sanctuaries?
(b) What is Bandipur National Park famous for?
(c) How does deforestation lead to drought? 2+1+2=5

(a) ‘Ug SEM SR ‘o=l wmeE’ | SRR T |

(b) SR T SuM e wHror =f€d 2?2

(c) aFIge 9§ g@l I8 Hehdl €1 #9?
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